
Maytronics Australia Pty Ltd

Dolphin Wave Xl Au

32A 9995558 Wheel Assy Wave Long Shaft

32 9995557 Wheel Assy Wave Short Shaft

31 9980440-ASSY Wave - Brush Arm Base

35 9980391 Wave - Pu Adaptor

34 9980390 Wave - Outer Ring With Pins

33 9980388 Wave - Coupling Adaptor 10 Mm'

30 9980430-ASSY Wave - Brush Arm Cover

26 9980382 Wave - Spurwheel - 26

25 5580372 Wave - Bushing For Wheel - 36

24 9980374 Wave - Bearing Cover

29 5590054-ASSY Brush For Side - Wave

28 9980384 Wave - Spurwheel - 56

27 9980383 Wave - Spurwheel - 36

42 99960087 Float Assy For Cable Wave

38 9991041-ASSY Wave - Track Tension Base Assy

37 9991312 Wave Xl - Track Tension Wheel

36 9980389 Wave - Coupling Adaptor 8 Mm'

41 9980363 Non Return Flap For Wave Xl Tube

40 3862258 Oring For Wave Top Cover Locker

39 9980342 Track Side Vakum Closing

09 9980395 Wave - Cable Omega

08 9980396 Wave - Vertical Pariting Net

07 9991005-ASSY Wave 300 Navigator Box Assy

.  11(01) 99953036-ASSY Mu Wave 300 Xl Assy

11 Kit Options

10 9985262 Wave - Impeller

06 9991037-ASSY Wave - Top Body + Bushung Assy

02 9980412 Outer Casing Wave - Top Cover

01 9980364 Wave - Main Locker

23 5580633 Wave-Ring Stopp. For Wheel Shaft

05 9980400 Wave - Impeller Tube

04 9980365 Wave - Locking Adaptor

03 9991012 Wave - Suction Tube

20 9980378 Wave - Non Return Diaphragm

19 9982410 Brush Wave - Pe Brush

18 6100917 Wave - Pvc Tube For Brush

22A 9993072 Sliding Flange+holder Assy Wave

22 9981244 Wave - Acetal Washer 29-11

21 3889301-ASSY Wave Xl Belt

17 9980385 Wave-Adaptor For Brush Spindle

13 9980397 Wave - Bottom Net

12 9991013 Wave - Bumper Assy

.  11(02) 99953036-EX Mu Wave 300 Xl Ex

16 5580021 Wave 300-Stainless Arc For Brush

15 9980343 Wave 300-Stainless Arc Stopper

14 9993301 Wave-Main Body-Bottom+bushings

Item # Item Number Description



Maytronics Australia Pty Ltd

Dolphin Wave Xl Au

63 9991039-ASSY Mmi Display Cover - Assy

62 9995993-ASSY Tool: Wave Man Machine Interface

61 9980490 Tool: Wave - Mmi Omega

.  64(02) 1863230LF Wave - Switch 5a For Ps - 230v

.  64(01) 5102002 Switch Cover Flange For P.S

64 99956020-AU-ASS Ps Wave 240v Assy Au

57 9991020-ASSY Wave - Pulling Handle Assy

56 99952070-ASSY Wave - Top Cover Assy

55A 9991042-ASSY Nylon String + Fasten Rings Assy

60 9995412-ASSY Rcu Wave Assy

59 9980345 Clip For Wave Filter Bag

58 9980344 Wave Filter Bag Slide

.  64(13) 2730006 Wave - Spacer For Ps Pcb Lci-6

.  64(12) 99951300LF Pcb Wave - Ps Assy

.  64(09) 9991124LF Wave - P.S. Fan Assembly

.  64(16) 1243300LF Wave - P.S. Capacitor

.  64(04A) 5890034LF Wave -  Nut For Lumberg Socket

.  64(04) 9991122LF Wave-Wiring Assy For Mmi Socket

.  64(03) 9986009 Wave - Ps Plastic Cover

.  64(08) 9991138LF Wave-Ps Cable Assy Australia

.  64(07) 3860221 Oring For Ps Cable 22x1.5

.  64(06) 9991123LF-ASSY Wave - Ps Cable Bulgin Socket

44 9980370 Handle Wave Side

.  43(06) 9980372 Screw -Bolt Mu Wave Cable Connec

.  43(05) 9980025 Washer-Inside Dia. 13mm

46A 9980392 Wave - Cable Handle - Lower Part

46 9980393 Wave - Cable Handle - Upper Part

45 9995810-ASSY Cable Assy - Wave Assy

.  43(01) 9985048 Cable Conn.Three Pin

43 9991274 Retrofit For Cable Con. - Wave

53 9980341 Long Washer Spacer For Tensioner

.  43(04) 3861002 Rk Ring For Cable Conn.

.  43(03) 9985028 Plastic Washer 9.5mm X 2mm

.  43(02) 1811602LF Cable Crimp 10-12# 20a 3.18mm

.  50(04) 9991443-ASSY Filter Bag Disposable Wave 10 Un

.  50(03) 9991401 Filter Bag Wave+slide Kit

.  50(02) 9991403 Filter Bag Wave Coarse+slide Kit

52 3500030 Double Cut 36 Mm Washer

51A 9980402 Wave - Side Float

51 6250937 Wave - Side Float Small

48 9980394 Wave - Cable Handle

47A 3506799 Circlip Dia.8mm A2

47 5581002 Wave - Shaft For Cable Handle

.  50(01) 9991402 Filter Bag Wave 70m+slide Kit

50 Kit Options

49 5000033LF Wave - Bulgin Plug - Buccaneer

Item # Item Number Description



Maytronics Australia Pty Ltd

Dolphin Wave Xl Au

.  CAD(02) 7100016 Wave - Caddy Handle

.  CAD(01) 2151437 Wave - Cable Holder

CAD 9996090-ASSY Caddy Wave Assy

.  CAD(05) 3390515 Wave - Caddy Legs Cork

.  CAD(04) 4901641-ASSY Wheel For Wave Caddy + Bearings

.  CAD(03) 9980320 Wave - Wheel Cover

.  A(R) 3379450-A Screw Ka40x12

.  A(Q) 3509350 Nut M5 A2 Din 985

.  A(P) 3105512 Screw M5x12 A2 Din7985

C NOT AVAILABLE20 See Balloon A - Screws Kit

B NOT AVAILABLE20 See Balloon A - Screws Kit

.  A(S) 3606798 Star Washer M5 Din6798 A2

F NOT AVAILABLE20 See Balloon A - Screws Kit

E NOT AVAILABLE20 See Balloon A - Screws Kit

D NOT AVAILABLE20 See Balloon A - Screws Kit

G NOT AVAILABLE20 See Balloon A - Screws Kit

.  CAD(B) 3509360 Hexnut Nylock M6 Din 985 A2

.  CAD(A) 3150640 Screw M6x40 Din 7985

.  CAD(06) 3967020 Wave Caddy Front Rubber Pad

.  CAD(E) 3300516 Screw M5x16 Din7985a A2 Form H

.  CAD(D) 3379440-A Screw Ka50x12 A2 Wn1412

.  CAD(C) 3506799 Circlip Dia.8mm A2

.  64(J) 3154414-A Screw M4x14 - 7985

.  64(F) 3105512 Screw M5x12 A2 Din7985

.  64(E) 3154008 Screw M4x8 Z.P

.  A(A) 3104025-A Screw A2 Wn1412 Ka40x25

A 9992301 Screw - Wave Screws Kit

999 8141025 General Maintenance

.  64(21) 1930212 Fuse - 16a 10x38 M'M

.  64(19) 1353510LF Bridge Ps Rect. 1000v/35a

.  A(N) 3105560 Screw M5x50 A2 Din912a Bn610

.  64(B) 3104530 Screw M4x30 Din 7985 A2

.  64(A) 3379410-A Screw Wn1412 A2 Ka40x10

.  64(22) 1930211-ASSY Fuse Housing Wave+screws Assy

.  A(J) 3315016 Screw Ka40x14 Wn1413 A4

.  A(I) 3500005 Nut M5 A2

.  A(H) 3105550 Screw M5x50 A2 Din7985

.  A(M) 3354020-A Screw Ka40x20

.  A(L) 3000301 Screw -  M4x5 A2

.  A(K) 3105535 Screw A2 M5x35

.  A(D) 3154414-A Screw M4x14 - 7985

.  A(C) 3305030-A Screw Ka50x30

.  A(B) 3379410-A Screw Wn1412 A2 Ka40x10

.  A(G) 3105580 Screw M5x80 A2

.  A(F) 3104510-A Screw M5x10 A2 Din7985 Tuf

.  A(E) 3374111 Screw Tuf A2 Form-H M4x10

Item # Item Number Description



Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au

Maytronics Australia Pty Ltd

Dolphin Wave Xl Au

OTW 9991311 Wave - Track Tension Wheel

ONB 9991017-ASSY Wave - Navigation Sys.Box-Assy

UPG 9993184 Upgrade Kit To Wave 300xl

P NOT AVAILABLE20 See Balloon A - Screws Kit

S NOT AVAILABLE20 See Balloon A - Screws Kit

R NOT AVAILABLE20 See Balloon A - Screws Kit

Q NOT AVAILABLE20 See Balloon A - Screws Kit

N NOT AVAILABLE20 See Balloon A - Screws Kit

I NOT AVAILABLE20 See Balloon A - Screws Kit

H NOT AVAILABLE20 See Balloon A - Screws Kit

OBL 3889002-ASSY Wave Belt - Pair

J NOT AVAILABLE20 See Balloon A - Screws Kit

M NOT AVAILABLE20 See Balloon A - Screws Kit

L NOT AVAILABLE20 See Balloon A - Screws Kit

K NOT AVAILABLE20 See Balloon A - Screws Kit

Item # Item Number Description



Maytronics Australia Pty Ltd

Dolphin Wave Xl Au



Maytronics Australia Pty Ltd

Dolphin Wave Xl Au

#CAD   (caddy wave assy)

#43   (retrofit for cable con. - wave) #64   (ps wave 240v assy au)


